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state 1t numbers[10] = §1,1.0,0,0,0.0,0,0,0};
ot 1. i

far (1 =00] = [k +=j}
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rumbers|i] = numbess(l] + numberalil;
for i 1="0;] <1k +3)
printf { "4l numbers]j]k
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b
f

LY g {nun)
{lom o,

i
]

printfi "%, numy;
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{(3%; 10, Fxplain the varjous addressing modes fur a by pid al micTopTovessor

| (10%0) 11 Draw the wrath table and wiiie the boulean expressions fur X and ¥ in the following logic
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(1%} | 2. Cantvert the tollgwing rumbers according o the requirements:
* 1AL, fHexadecimal ) ro BCD
¢ G100 O101) g to hexadecimal

321, {B-based)io Hexadecimal
¢ 245 | {(10-based) o ootal (8-hased)
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(0%} 13 As an mdustral Enginesr you must develep a program to accep or TEjerl 2 rod-shated machine
part according, 10 the following eriteria: Its length must be nod less than 77,5 mmi7. 75 cmp nor
great than 78.5 mm (7.85 ¢my; it diameter must be not less than 3.35 may{9.33% cm) not preat
than 3.46 mu0.346 em).  In addition. under so circumstances may ifs mass cxceed 5.6 g,
Note that the wass is cgual o the wolume foross-sectional area tmey length) treultipled by 1he
rod’s density (7.8 giote't. Write a FORTRAN Program to input the tength and diameer of a
rod and print out whether it is aceepted or rejected. I 1l is rejected. print out the reaspn (or
reasons) for rejection.

(10%) B4, [Teasure hunt,
A secret code 15 buried ina binary trec whoss nodes are in the form:
siract rnode §
int code,
siruct node *parent;
struct node *left,
struct node *right;
b
Also:
siruct node *start,  /* contains the roof address of the binary trec struciures ¥/
*found:

Assuming thal there ts only one structure containing the integer 2222.using depth-first
approach write 4 program 1o regyrsively search for the adilress of the structuee whizh containg
the secrel code, 2222, Place the found address in the pointer “found”,




